LHOHE SAYMTY

v 3041

I

www.Ledeca.com

i
4_“ ___
____--- _

”- (
i ,
Tt _______
-——— .mnl-.l_, .ﬂ Ty .
_____W_ __—‘_m_— _E __ —__ “. 3 Yy,



LHOHE SAYMTY

v 3041

www.Ledeca.com




B
y |
V4 |

A A”
B

-
gl

BASE WILL BE READY TO INSTALLATION BY OPENING THE HINGES.

STANDART

ot

=
e
9
=
=
4
E
=1
<

<
L
(-]
L
—

www.Ledeca.com




BASE WILL BE MOUNTED USING 6PCS M8 NUTS.

STANDART _

é \¥

& o

=
=
9
=
&
£
E:
5
=

VAVAVAV

www.Ledeca.com

<
L
o
L
—




A

=
=
9
=
&
£
E:
5
=

WALL MOUNT FIXTURE WILL BE INSTALLED TO THE WALL USING 3PCS M8X75 STEEL ANCHOR.
PRODUCT CAN BE HANG DIRECTLY TO THIS FIXTURE.

<
L
o
L
—

www.Ledeca.com




HANGING PLATE WILL BE INSTALLED TO CEILING USING
4PCS M8X75 STEEL ANCHOR. HANGING POSITION CAN

BE ADJUSTED VERTICALLY USING 3PCS M8 SCREWS.

E
=
9
=
&
£
E:
5
=

<
L
o
L
—

www.Ledeca.com




LHOHE SAYMTY

v 3041

www.Ledeca.com




Cat6 cable coming from
Ledup will be connected
to port 1 of Sender Card.

cable between the computer

® Connect the HDMI and USB
|
. and the Sender card.

1

1

R R T T SIS e
R e

Connect the Ledup Power _
cable to the input terminal

-

=
pre
9
=
=
H
5
<

J

www.Ledeca.com




Connect the Ledup Power
cable to the input terminal

{

|

{

|

I
Cat6 cable coming from . - a
Ledup will be connected i -
to port 1 of Sender Card. e ,.

\

Connect the HDMI and USB
cable between the computer
and the Sender card.

=
I
9
&
@
£
5
<

<
L
o
L
—

www.Ledeca.com




